DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 2)

DIVISION WITH -10 TO 10 Name:
Time: Score: y—
31 78170 + 10 = a6 —1881.2 +4 =
) 4732+ 2 = an 1170 + 1 =
) 326.25 + (—9) = 59 322.98 = (—6) =

31 —19104 + (—4) =
339) —106.42 + 2 =

336) - 86940 <+ 10 =

337 27774 =6 =

338 3904.4 + (—4) =
539) 27235 + (=5) =
310) —2864.4 + 6 =

s —=214.17 + (=3) =
312 —86380 + (—10) =
13 104.9 + (=2) =
1) 54824 + (—T7) =

) —468.1 + (—1) =

Mathematics: Division - Level 6 - Horizontal - Set 2

13

349)

350)
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353)

354)

355)

356)

357)

358)

359)

360)

46.66 + (—1) =

—4546.2 = (—6) =

515.62 =7 =

—335.88 + 9 =

—573.3 + (—6) =

271.5 + (—1) =

2106 + (—2) =

—3115 =7 =

47275 =+ (=5)

96.86 + 1 =
—7679 + (—1)
—48735 + 5 =
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